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= 44,330
= 38,619
02 222l 82,949 82,949 0
ORNFBENY sl8E 82,949,0002 82,949
= 44,330
2 38,619
SOE ZUAINYNY TEAY 26, 189 22,500 3,689
= 7,857
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402 Q12X+ 0| 26, 189 22,500 3,689
= 7,857
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O=0l& ZUAINATY PEALL
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2 18,332
NS WSS (DS/ROHLESSDS) 1,523,074 1,709,858 186,784
DEX 1,503,074 1,709,858 ~186,784
0 2 ZHINZ 4O 3,530 3,530 0
201 L2 Y| 3,530 3,530 0
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AE

f=1

P NS (LR/RULESS

TS ONE-|

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i =%
—ZSSM QOAT 2% X2
15,000,000%! 15,000
—HE YOMBMH 2 X2
90,000, 0002 90,000
—FM3 FolslE s 29
1,000,000 *60% 60,000
OolEHXINSE D 2A4 24|72 7
30,000,0002 30,000
403 KX EHHI S 20| & 80,000 0 80,000
02 2IIZSOIThEHTH R AL B 80,000 0 80,000
OYMRSH 2 N 30,000,000 30,000
OSlBHANS HAH +BS X2
50,000, 0002 50,000
IPES (BT (LBTHY /LB T) 101,297 100,400 1,000,897
TES DS 100,000 100,000 1,000,000
oy T3 MED ,100,000 100,000 1,000,000
WREKEE ,100,000 100,000 1,000,000
01J128&2 100,000 100,000 1,000,000
Oolgz &stJ|3 ®&2  1,100,000,0008! 100,000
SEIE 1,297 400 897
2cH 2x3 BE3 1,297 400 897
802 ¥ 22| Et 1,297 400 897
NEREEETEE 1,297 400 897
OANZT B3 REINPAALY REAL
162, 0002 162
ONZT SHEHDAAY L2EH RIUAL
{,135,0002 1,135




